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10.

OR (3121an)
Explain the three major components of the Ring
frame other than drafting system.

TeT ugfd Bisax Raby & 9 a1
Hcdh bl ARAT B |

Explain different passage of the flyer frame.

FIRR BH & faffr~1 arf &) arear o |

OR (3121an)

Explain modern drafting system employed on
ring frame.

R w9 § IuAT B4 9rd e wEiar
ygfa @ s ¥ |

Explain with neat sketch working of false twist

method of texturising.
6

fiemr voa caarsioiT fafsr & &rd yomreh
T TP IGMAT B AT AT DN |
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Time : 3Hrs. Sem. V-T.E.
Yarn. Mauf. -I1
Full Marks : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question
carries 1 marks.

Tu-A 9w+l 20 ¥ @ IR T, UAS U BT A [ A5 2 |
Answer all Five questions from Group B, each question
carries 4 marks.
gu-B 9wt uig gl & SR <, UAD U BT AH 43b e |

Answer all Five questions from Group C, each question

carries 6 marks.

7u-C & it ufg 9ol @ SR <, TAS U & A9 6 A 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP YT & 9] 3 BT SR UP &) oiE (AR HH H)

BT a1fey, 3=gem 4 Wiid -2l ol 9ad 2 |

The figure in right hand margin indicate marks.
< ured & 3id Yuiie & qad 2 |
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OR (31214T) (i)
Explain angle of yarn pull.

g Efdrd ST B ATT DY |

5. Explain dry doubling system.

@ g ugfa a1 ar=am s (i)
OR (3121a1)
Explain principle of texturising.
SIS @ Rigid @ aar=r & | (iii)
6. Explain hard waste and soft waste.
4

Fel FRef® 3R garaw FRefe &) s a1 |

OR (3121a1)
(iv)

Explain open end spinning and continuous spinning.

Gl BIs $dl3 3R AR Hdlg b AT
B |

3 1628501

SNIT sADT & HSdd UTHUY Ugfa &I
9gd SATeT YANT . @ ferg grar 8-
(@) w3
(@) XeH
(|) &
(|) S

Each successive traverse of bobbin rail is:
(a) Longer than previous one

(b) Shorter than previous one

(c) Medium than previous one

(d) Very short than previous one

e Yol &1 YAD HANTT MR—UR
Bl 82—

(31) ugal & oTT

(@) g 9 ®ier

(W) uga & wEeuH

(]) usdl ¥ 9gd ®Bicl

Modern differential motions use:
(a) Modern gears

(b) Epicyclic gears

(c) Train of gears

(d) High quality gears
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xx) Gl fHTRT HaATg 23— vi) gT¥e &I a8l qr T feg ux v oxar
(31) s a—
@) frerd (37) g BIa BT HEAT W
() Heaw B (@) 9TRY S DT HET R

(d) vod @ g&T W)
(%) 99T SN B F&AT W)

(]) 99g d¥=9d

(vid) Older type of spindles run in:

(a) A helical gear
(b) An improved gear
(¢) An oil bath
(d) Separate oiling arrangement
(vii)
W USR & disd Idrd Srd 29—
@) o fawa fiRR w®
(@) @ S=d YR & R W
GROUP B () T deflg a<i= W
(]) e T Aol uaAT WX
Answer all Five Questions.

i oig gsEy @ ¥ $x5=20 (viiiy If a lower twist factor is used, then:
e S el (a) A hard yarn will result
2. Explain short cut process of speed frame. (b) A soft yarn will result
4 (c) Anormal yarn will result
e ¥ @ ACHe fafsr & e & | (d) A medium yarn will result
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BIFe fFRefd @1 I8 THIE ) Sexd
g
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(@) s

(=) =i

(2) aufHr

The travellers of doubling frame is made of :
(a) Copper

(b) Brass

(c) Acrylic

(d) Aluminium

SafeiT BH &1 Saad ... q 941 BT
3

(31 dIuR

(3) draa

(&) uBifers

(=) srcgfafay

The most commonly used creel in doubling
process is:

(a) V -shaped creel

(b) Vertical creel

(c) Rectangular creel

(d) Porcupine creel

NT5051
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While deciding the amount of break draft
shore harness roller is :

(a) 75

(b) 82°

(c) 85"

(d) 95°

3% gTUe © RHATT &1 fAvfa &xa
THY 49 BT IR ERAY &dTl 28—
(&1) 75°
(@) 82°
(|) 85"
(2) 95°

The older type of spindles called:
(a) SKF

(b) WST

(c) Rieter

(d) Rabbith
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11.

OR (312141)

Explain American system and four roller system of

threading.

ST & MR®T ugfa 3k ar o+ ugfa
B GRAT BN |

Explain recent development in rotor spinning.
6
RfexX &dls H 8l & f[dbrg &) ARAT B |

OR (3121d1)

Give an account of the different types of waste

obtained in a composite mill and their uses.

WYFd dREAHN 3 a1 &Rl & &9 &
IR A fod 3R ¥ ST B A T
& |

kkock

1628501 17 NT5051

11.

OR (312141)

Explain American system and four roller system of

threading.

AfST @ sMR® ugfa R IR a9 ugfa
@B GRAT BN |

Explain recent development in rotor spinning.
6
R(exX &dls H 8l ® f[dbrg &) ARAT B |

OR (312141)

Give an account of the different types of waste

obtained in a composite mill and their uses.
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